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JLPT N4 Kanji Quiz — 28/34 Answer

1 ZoORWVEKIT gWwiTeE BER »wnTd i,

(1) IRV 1 Ho s Ix 2 bbBu\z 3 LAV 4 Hz
2) BW 1 7250 2 T2 3 =9 4 T3
3) mE 1 L2200 2 L7l 3 DAL 4 DAOD

i 2 ETIE BAFHET FELTLTESN,

(1) #= 1 Zx59L-o 2 XroX 3 Z%HLO 4 XHR°
(2) HAGE 1 ICiEFAD 2 ZIEFAERL 3 ITIFAT 4 \ZIF ALl
(3) EELT 1 LT 2 LT 3 XL T 4 1L T

13 ZoblobLy AT 10 L0 T,

(1) H7=HLW L HLw 2 UrLw 3 HLw 4 P
(2) HH 15 2 = 3 = 4 5
(3) 1Tk 1 A= 2 W= 3 N5 4 HWE

M4 brlo pELIZIE WLel BBWLTT,

(1) MmEL 1 Bif 2 Fr 3 it 4 Fk
(2) WiL= 1 X 2 EE 3 [EH 4 EH
(3) BBW I NA 2 3 %W 4 K

Bi 5 ZoERlE 2T 9oTCWEATTD, bl NniEWnWTd,
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(1) 137 1 & 2

(2) 9oC 1 72-C 2 3 &-oT 4 F§-TC
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(3) M 7aun I iz ARy 3 Huawn 4 Hunizn



